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@ -1

® 3.14

@ 0



2x(x—1) = 3x(2x - 3) — (=7x* + x - 2) & {I235] 5tH?

® 3x24+6x+2 @ 3x2-6x+2 ® 3x24+6x-2

@ -3x2+6x+2 ® 3x2-6x-2
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4. 28— AT, 320 2y o ASAZOR vr27] ek AL

O x? @ x ® x° @ x° ® x1°



A4 x—ay+6 =0 °] (3, 3), (0, b), (c

=2
A a, b, c D Fatbc o g2

D 10 @ 11 ® 13 @ 14

, 5)5 a2 7HA uf,

® 16



(a+b+c—d)(-a+b+c+d)+(a+b-c+d)(a-b+c+d) &
A0Sk ?

D 2ad + 2bc @ 3ad + 3bc ® 4dad + 4be

@ 3ad - 3bc ® 4ad - 4bc



7. Ax+1ly+17T=9x+10y+15 W x—-y+2 S x o Tt o7
e Y

DO x+1 @ 2x+2 ® 3x+3

@ —-4x+4 ® 5x+5



